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With reference to the 25th Shanghai Cooperation

Organization (SCO) Summit held in 2025, consider

the following statements:

(1) The summit was hosted from 31 August to 1
September 2025.

(2) The Tianjin Declaration was adopted during
the summit.

(3) India highlighted Security, Connectivity and
Trade as its main focus areas at the summit.

Which of the statements given above is/are
correct?

(a) 1and 2 only

(b) 2 and 3 only

(c) 1and3only

(d) 1,2and 3

Which two Indian Navy ships recently participated
in a Passage Exercise (PASSEX)?

(a) INS Kolkata and INS Kochi

(b) INS Tamal and INS Surat

(c) INS Vikrant and INS Trikand
(d) INS Chennai and INS Sunayna

Which of the following pairs (71st National Feature
Films Awards 2023 ----Winner) is NOT correctly
matched?

(a) Best Feature Film - 12th Fail

(b) Best Actor award - Shah Rukh Khan and Vikrant
Massey

(c) Best Direction - The Kerala Story

(d) Best Actress in a Leading Role - Kirti Sanon

On which date is the International Day of the

World’s Indigenous Peoples observed every year?

(a) July11

(b) August 9

(c) September 21
(d) October 2

What is the primary objective of ‘Project Aarohan’
recently launched by the National Highways
Authority of India (NHAI)?

(a) Promote road safety awareness among truck
drivers

(b) Provide technical training to toll plaza staff

(c) Support education of children of toll plaza
employees

(d) Monitor real-time toll collection data through
Al
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Which institution released the Global Status of 6.

Salt-Affected Soils?

(a) World Bank

(b) United Nations Environment Programme

(c) United Nations Conference on Trade and
Development

(d) Food and Agriculture Organization

Match List-l with List-Il and select the correct
answer using the codes given below the lists:

List-1 List-1l
(Events) (Place)

A. 2024 UNFCCC COP 29 1. Baku

B. 2024 UN Conference on 2. Austria
Space Law and Policy

C. World Maritime 3. New Delhi
Technology
Conference 2024

D. 14th Asia-Oceania 4. Chennai

Meteorological Satellite
Users’ Conference 2024
Code-
A
(a) 1
(b) 1
(c) 1
(d) 2

Who won the BAFTA Award for Best Director in
2025 for The Brutalist?

P WNN®
NWAA
whaDdwo

4

(a) Edward Berger
(b) Denis Villeneuve
(c) Brady Corbet
(d) Jacques Audiard

Consider the following statements related to the
International Bird Festival 2025:

(1) It was organized in Prayagraj Mahakumbh
from 16th to 18th February 2025.

(2) The festival featured migratory birds from
over 10 countries, including Siberia, Mongolia
and Afghanistan.

Select the correct answer using the code given
below-

(a) only 1

(b) only2

(c) Both1and?2

(d) Neither 1 nor 2
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10.

11.

12.

13.

14.

The second edition of the UP International Trade
Show 2024 was held in which district of Uttar
Pradesh?

(a) Lucknow

(b) Varanasi

(c) Gautam Buddha Nagar
(d) Kanpur

With reference to the Economic Survey 2024-25,
which of the following crops has received the highest
increase in Minimum Support Price for FY25?

(@) Arhar
(b) Bajra
(c) Masur
(d) Rapeseed

Which glacier is considered the first to be officially
declared dead due to climate change?

(1) Vvatnajokull
(2) Perito Moreno
(3) Okjokull

(4) Batura

With reference to 13th National Seed Congress,
which of the following statement/s is/are correct?

(1) It was hosted in Varanasi.

(2) Thetheme of the Congress was “Strengthening
Global Military Ties through Seed Innovation”.

Select the correct answer using the code given

below-

Code-

(a) Only1

(b) Only 2

(c) Both1and?2

(d) Neither 1 nor 2

Consider the following statements:

(1) India to Host 28th Commonwealth
Parliamentary Conference in 2026.

(2) This is the very first time India will host the
conference.

Select the correct answer using the code given
below-

Code-

(a) Only1

(b) Only 2

(c) Both1and?2

(d) Neither 1 nor 2
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15.

16.

17.

18.

19.

India has successfully tested its first indigenous
micro-missile system, named ‘Bhargavastra,’
which is designed to counter which type of threat?

(a) Cyber- attacks
(b) Swarm drone threats
(c) Submarine attacks

(d) Ballistic missile threats

What is the total outlay of the Uttar Pradesh
Budget 2025-26, presented by State Finance
Minister Suresh Kumar Khanna on February 20,
2025?

(a) X8,09,736 crore

(b) %8,08,736 crore

(c) %8,08,700 crore

(d) %8,08,800 crore

Which the following statement regarding Global
Hunger Index 2024 is incorrect?
(a) India Ranks 105th in Global Hunger Index 2024.

(b) It is published jointly by Concern Worldwide
and Welthungerhilfe.

(c) Itisanannual report.

(d) IntermsofhungerIndiacomesinthe moderate
category.

Where was the Indian Army’s first upgraded
T-90 ‘Bhishma’ tank, produced under a license
agreement with Russia, manufactured?

(a) A) Medak, Telangana

(b) B) Avadi, Tamil Nadu

(c) C)Pune, Maharashtra

(d) D) Jabalpur, Madhya Pradesh

Who won the 2024 Formula 1 United States Grand
Prix?

(@) Max Verstappen
(b) Lewis Hamilton
(c) Charles Leclerc

(d) Sergio Perez
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20.

21.

22.

23.

Match List-l with List-Il and select the correct
answer using the codes given below the lists:

List-I List-11
(Development Engine (Category)
in Budget 2025-26)
A. 1st Development Engine 1. MSME
B. 2nd Development Engine 2. Investment
C. 3rd Development Engine 3. Exports
D. 4th Development Engine 4. Agriculture
Codes:
A B C D
@4 1 2 3
b)y2 3 4 1
04 3 2 1
d4a 1 3 2

Consider the following two statements about the
Chief Minister Yuva Udyami Vikas Yojana launched
by the Uttar Pradesh government:

(1) It has prepared more than 500 business models
to encourage youth towards agriculture.

(2) Under it, an interest-free loan of up to Rs 5
lakh will be provided to help youth establish
their businesses in agriculture sector.

Select the correct answer using the code given

below-

Code-

(a) Only1

(b) Only 2

(c) Both1and?2
(d) Neither 1 nor 2

Karma Phuntsho, who won the 66th Ramon
Magsaysay Award in 2024, is from which country?

(a) Nepal
(b) Bhutan
(c) Tibet
(d) SriLanka

Which of the following has launched “Biomass
Mission” on 29Th April 2025.

(a) NASA
(b) ISRO
(c) JAXA
(d) ESA

20.

21.

22.

23.

Y1 ! g1 @ gafera Hifeg 3k giagl & T fig

Y e &1 YN T el 3T gHT:
-1 gl 11
(F9I€ 2025-26 A Ea) (A
A. voH fawE g5 1. MSME
B. GEI ford g9 2. fHay
C. drax fo@m g9 3. fara
D. e fawrg o 4. P
%c:
AB C D
@4 1 2 3
b)2 3 4 1
)4 3 2 1

d4 1 3 2

IR UGY GEhR GRT & i T8 Gegusl gar gt

fowTg Ao & dey # FAmfafed & weel w four

Hifer:

(1) 3G Zara3f ol S & Ufd Miefed w4 & g 500 &
e e Hied 4aR 6T &

(2) 3D dgd JaT3lt I HY §F § 3191 FIAH Tfud
H H 7GG & folU 5 ARG T0F qdh & 1S b 0]
e fosam St

T 3 7T e & T R gE ST g
W_

(a) daa 1

(b) et 2

(c) 1 3f2dH

(d) 1 3RAE 2

2024 ® 6637 W T8 YTEHR ST dTel BT Bl
fragua e
(a) AdTeT

(b) oeH
(c) fossa
(d) siteieer

fFefefad # @ s 29 3, 2025 & “T@HE
s @ e 21

(a) NASA

(b) ISRO

(c) JAXA

(d) ESA




24,

25.

26.

27.

28.

Who has been elected as the President of the 24.

Olympic Council of Asia for the term 2024-28?

(a) Narinder Batra

(b) Raja Randhir Singh

(c) Sheikh Ahmad Al-Fahad Al-Sabah
(d) Thomas Bach

In the context of recent government initiatives, 25.

what is the full form of the Initiative ‘NAVYA’,
launched in June 20257

(@) Nurturing Aspirations through Vocational
Training for Young Adolescent Girls

(b) National Action for
Advancement

(c) New Avenues for Vocational Youth Activities
(d) National Adolescent Vision for Young Aspirants

Vocational Youth

At the World Police and Fire Games 2025, what 26.

was India’s overall position in the medal tally?

(a) First
(b) Second
(c) Third
(d) Fourth

With reference to the H3N2, which one of the 27.

following statements is incorrect?

(a) Itintroduced to the human population in 1968.

(b) It can undergo rapid genetic and antigenic
changes.

(c) Itisasub type of Influenza A type virus.

(d) Its mutation is slow as compared to other
Influenza A type virus.

Which of the following pairs (Event 2025 - Theme) 28.

isincorrect?

(a) 9th Global Technology Summit - Sambhavna

(b) Cop 15 Ramsar Convention - Protecting
Wetlands for our common future

(c) 6th BIMSTEC Summit - Prosperous, Resilient
and Open BIMSTEC

(d) 11th BRICS Labour & Employment Ministers’
Meeting - Al and the Future of Jobs

2024-28 & 3afd & oy it sieifoe aftwg &
T &Y H fopd g AT R?
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29, Match List | with List Il and select the correct 29.

Tl 1 ) gat 11 § gAfeid Hiforg 3k gt & i fju

answer from the code given below the lists: W%ﬁﬂﬁﬁ'{gﬁm
List | List Il Gl Geil
(Exercise 2025) (Date) (31919 2025) ERIED)
A. INIOCHOS 1. April 16 to April 28 A. INIOCHOS 1. 16 30T & 28 30
B. Tiger Triumph 2. April 1 to April 11 B. TSR C1I"H 2. 130 11 30
C. INDRA 3. March 28 to April 2 C. INDRA 3 28 A& 2 31T
D. DUSTLIK-VI 4. March 31 to April 11 D. DUSTLIK-VI 431 TR 11 50
Codes-
EE
(a) A-4,B-2,C-3,D-1
(a) A-4,B-2,C-3,D-1
b) A-2,B-1,C-3,D-4
(b) (b) A-2, B-1,C-3, D-4
(c) A-4,B-3,C-2,D-1 (c) A-4,B-3,C-2,D-1
(d) A-2, B-3,C-1, D4 (d) A-2, B-3,C-1, D-4
30.  Match List-l with List-1l and select the answer using  30. lﬁﬁ—l ﬁ@—ll @ﬁ'ﬁﬁlﬁﬁﬁl’({ ﬁ?ﬁﬁlﬁ%ﬁﬁﬂl{
the code given below the Lists m%wmﬁﬂwmqﬁm
List-I List-Il
(Committee) (Key -1 -1
Recommendation) @fafa) (&3 SaiET)
A. Balwant Rai Mehta 1. Constitutional status A. Sedd T 1. 9T T Bl
Committee for Panchayati Raj Near gfafa daures gt
B. Ashok Mehta 2. Creation of post of B. 37N Nedr gfafa 2. ﬁwﬁww
Committee District Development $WWW
Commissioner .
_ c. tAtFyaamfa 3. S ufivg sk dew
C. G.V.K. Rao 3. Creation of GaTgd &1 HETeT
Committee Zilla Parishad and . .
| Panch D. UG, Fadt afafa 4. 5 uftvg, demd
Mandal Panchayat ;
o 4 . gfafd g am
D. L. M. Singhvi 4. Creation of Zilla Geid o] il
Committee Parishad, Panchayat
Samiti and Gram
Panchayat
%<
Codes-

(a) A-4,B-3,C-2,D-1
(b) A-4,B-2,C-3,D-1
(c) A-1,B-3,C-2,D-4

(d) A-1,B-2,C-3,D-4

(a) A-4,B-3,C-2,D-1
(b) A-4, B-2,C-3, D-1
(c) A-1,B-3,C-2,D-4

(d) A-1,B-2,C-3,D-4



31

32.

33.

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R):

Assertion (A): Fundamental rights are ensuring

the dignity and development of

individuals.

The Indian Constitution guarantees

fundamental rights to all citizens,

which are  justiciable and

enforceable by the courts.

Select the correct answer using the code given

below-

Code-

(a) Both (A)and (R) are true, and (R) is the correct
explanation of (A)

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)

(c) (A)istrue, but (R) is false

(d) (A)is false, but (R) is true

Reason (R):

With reference to Article 3 of the Indian
constitution, consider the following statements:

(1) It authorises President to increase the area of
any state.

(2) Parliament is authorised to form a new state
by separation of territory from any state.

(3) Authorises the Parliament to alter the name of
any state.

Which of the statements given above is/are NOT
correct?

(a) 1only

(b) 2 only

(c) 1and3only

(d) 2and 3 only

With referencetothe Hindi Text of the Constitution,
which of the following statement/s is/are correct?

(1) Initially, the Indian Constitution made no
provision for an authoritative Hindi text.

(2) The 58th amendment inserted a new Article
394-A to deal with the translation of the
Constitution in Hindi language.

Select the correct answer using the code given
below-
Code-

(a) Both1and?2
(b) only 1

(c) only2

(d) Neither 1 nor2

31.
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33.

2 3 e U MU €, T o SAfeRe (A) SR gER B
HROT (R) el 71T &

AP Y (A): Aifers 3MfEeR aafeal b TiEr 3R

T gifesd o 2

FROR): R4 di3am g4t Frrfent & fifas
R = 3R gada gl

T T 71U e 1 T R TE SR g AT

%<

(a) %A)aﬁz(R)eﬁaa%,zﬁz(R), (A) & FE SFrE
|

(b) (A) 3R (R) SF g ¢, dfee (R), (A) &I Tt
ST el 2l

(c) (A)TF ¢, Al (R) 39 2|

(d) (A) =A@ g, oifed (R) I 2

IRAT @fae™ & gws 3 & day #, Fefafed

FoAl R faer w:

(1) %%gﬁﬁmﬁmwmwﬁwm
aar gl

(2) TaE Bl fopdt off T5T T &5 31T i 7T TSI A
Bl DR 2

(3) TEE D et off T T A 5w Bl ABR AT

Iederd § @ BI-a1/8 S FE 76 /82

(a) aa 1

(b) hae 2

(c) &aeT 133

(d) Sae 2 33

gfaem & &) ure & g #, Fefafad d @ wiH-ary

Y H gE /2

(1) YRYH, YR Gfaam & nfawiii feal ure & &g
YTGEN =g} ol

(2) 58d @i gRT WfaaM & el 9w & 3rqae 4
Geiferd Teb T A5G 394-A SiIST T

= T 7Y e BTy R TE IR AT

%c:

(a) 1 3k 23Ht
(b) waa 1

(c) a2

(d) A1 3RTE2




34,

35.

36.

Arrange in chronological order, the following
events in order of their year of adoption

(1) Adoption of objectives Resolution
(2) Adoption of the national flag
(3) Adoption of National anthem

(4) Ratification of the India’s membership of the
Commonwealth

Choose the correct code from the options given
below-

(a) 1-2-3-4

(b) 1-2-4-3

(c) 2-1-3-4

(d) 2-3-1-4

With reference to 42nd Amendment Act of 1976,
consider the following statements:
(1) Deleted the right to property from the list of

Fundamental Rights.
(2) It added a new Part IV A in the constitution of

India.
(3) Empowered President to declare a
national emergency only on the written

recommendation of the cabinet.

Select the correct answer using the code given
below-
Code-

(a) 1and 2 only
(b) 2 only
(c) 1only
(d) 2and 3 only

With reference to the Charter Act, which of the
following pairs (Act --- Provision) is NOT correctly
matched?

(a) Charter Act of 1793- It distinguished between
the commercial and political functions of the
Company.

(b) Charter Act of 1813- It abolished the trade
monopoly of the company in India.

(c) Charter Act of 1833- It ended the activities of
the East India Company as a commercial body.

(d) Charter Act of 1853- It separated, for the first
time, the legislative and executive functions of
the Governor-General’s council.

34.

35.

36.

FAfefed gemstl @) 3% 39T - & a9 & AR
FHIATH B TafRId he:

(1) 3T UG Bl (YA

(2) TPT T Bl YA

(3) T ol AT

(4) FHESA H YRd &I G Bl SFaH

e few e faemedt & & @€ pe g
(a) 1-2-3-4
(b) 1-2-4-3
(c) 2-1-3-4
(d) 2-3-1-4

1976 & 427 dMEA At & ded |, Fmfafad

Y 9T foaR e

(1) Hifers 3Rl B gt & Hufd & AfIHR @l ger
fear mm

(2) 99 YRA & TG H Ueh 91 91T IV A el

(3) TPUTA Bl hae hise i fofdra fwie w & afa
3TATRIe BN e ol feresT feam e

T T 71U e 1 T o TE ST g

&

(a) aer 1 3R 2

(b) a2

(c) haar 1

(d) a2 3R 3

e A & Gei 7 , Fefeifea # 4 sa-ar g

@Erfafam --- raem) 98 gafdad e g2

(a) 1793 &1 dET AFGH- 587 HUH! & anfoifses 3k
ST Tl o o 37ar fepa

(b) 1813 T AR AMfAfAIH- 397 YR & &hu-T & TR
THITERR &I THTE B |

(c) 1833 I T AfEAH- 3G Teh ATfOISD b b
9 1 g gfean syt ot nfafafert o gmra o feam

(d) 1853 T TTEe FfafaH- 294 ggell IR Ta-R-STeT

HI gl & Qartt 3R SRR Haf B 3T
feam



37.

38.

39.

40.
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Which one of the following (Constitutional

Amendment ---- Provisions) is NOT correctly

matched?

(a) 101 Amendment Act ----- Goods and Services
Tax

(b) 102 Amendment Act ---- Restored the power of
state governments to identify and list Socially
and Educationally Backward Classes

(c) 103 Amendment Act ----- 10% reservation for
Economically Weaker Sections

(d) 106 Amendment Act
Reservation Act

Women’s

The imposition of President’s Rule in a state
would be improper under which of the following
situations?

(a) Where after general elections to the assembly,
no party secures a majority, that is, ‘Hung
Assembly’

(b) Maladministration in the state or allegations
of corruption against the ministry stringent
financial exigencies of the state.

(c) Where the party having a majority in the
assembly declines to form a ministry.

(d) Where a constitutional direction of the Central
government is disregarded by the state
government.

Given below are two statements, one labelled as
Assertion (A) and the other labelled as Reason (R):

Assertion (A): The President is a part of the

Parliament.

A bill passed by the two Houses of

the Parliament cannot become a law

without the assent of the President.

(a) (A)istrue, but (R) is false

(b) (A)is false, but (R) is true

(c) Both (A) and (R) are true, and (R) is the correct
explanation of (A)

(d) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)

Reason (R):

Which of the following Fundamental Rights is
described as ‘the dawn of the second revolution in
the chapter of citizens’ rights’?

(a) Article 21A
(b) Article 17
(c) Article 23
(d) Article 19

37.

38.

39.

40.

fFafefed § @ wF-ar @y daiem - graem)
e gAfeld T2 82

(a) 101aTdeieA AT -----9%] Td JaT X

(b) 102aT e AR ---- G 31 A &0

3 a2 il B ugaH B AR 3% gelieg B B
TS FIDI i Wtk ot TgTe fopar T

(c) 103argened fafFam ----- 37fdid 4 Y HHSIR T
& T 10% 31T

(d) 106aTTRNeA ffafHad ------ AT 3RO 3fafay
Frfefea & @ forg feafa # fordt v & ayufa amam
I GIEC R

(a) T8t e & 311 IAEl & 91G, fohdt oft g &l
SEHd U e g €, 3t i femger|

(b) TST F HHTEA IT HAGT & [98g YRR & 37,
T &1 HER [l 3mawaresdni|

(c) STRTfarem=as & SgHd UIed & HiFHSd a1 4 39hR
H gl

(d) STET TsT WBR R g THR & et daenfien
fE9 &Y 3raRe Bl STl 2

2 3 e U U €, T B S (A) 3R gER B
HROT (R) Tl 71T &:

VB (A): TPUfa Gee o1 T 3T |
FRUI(R): G9g & aHi Gedl gi)a Iid fadges
TR Y T ¥ T A A

HhdTl
(a) (A)TAE, AP (R) 3T
(b) (A) 3 8, Afeh (R) A &
(c) %A) 3R (R) i @ €, 31X (R), (A) & Tt sarean

(d) (A) 3R (R) 241 & &, @7 (R), (A) & T8t
AR el &

fefaf@s & 4 feg At sReR B @nie

el & 3reara & g@d) shifd Y &3> el T 82

(a) 3rf=3q 21A
(b) 3resE 17
(c) 3r=gq 23
(d) 3FF=< 19




41.

42.

43.

44,

In which year was Nagaland formed as the 16th 41.

state of India?

(a) 1956
(b) 1960
(c) 1963
(d) 1972

Match List | with List Il and select the correct
answer from the code given below the lists:

List | (Case) List Il (Year associated)
A. I.R. Coelho case 1.1992
B. Menaka case 2. 2007
C. Gopalan case 3.1978
D. Mandal case 4.1950
Code -

A B C D
@1 3 4 2
(b)1 2 3 4
)2 3 4 1
d2 3 1 4

The Third Schedule of the Indian Constitution
consists of forms of affirmations for which of the
following posts?

() The judges of the Supreme Court

() The members of the state legislature
(1) The members of Parliament

(IV) The Governors of States

Select the correct answer from the code given below-

Code -
(@ 1,1, 1m

(b) 1,11, IV
(c) 1,1, v
(d) 1,11, 1, IV

With reference to the table of precedence in the
Indian Constitution, arrange the given posts in the
correct order:

() Attorney General of India
() Vice-President
() Prime Minister
(IV) Judges of Supreme Court

Select the correct answer from the code given below-
Code -

(@) 1,1V, 1,11
(b) 1,11, 1V, 1l
(c) 1,10, 1V, 1

(d) 1,11, 1V, I

42.

43.

44,

g a¥ Tl WRA & 163 TT & &9 F wWfud gam
o7

(a) 1956
(b) 1960
(c) 1963
(d) 1972
Tl 1 6T gat 11 § gAfeld Hiforg 3k gt & i ju
Y % § Fel It T
I 1 (HTHET) gl 11 (Seiferd av)
A. 3TTE.3TR. ST AHAT 1. 1992
B. AThT ATHAT 2. 2007
C. TITeA HTHAT 3.1978
D. Hecl HHAT 4.1950
% -
A B C D
(@1 3 4 2
b)1 2 3 4
)2 3 4 1
d2 3 1 4
TRAT Gfaem & diad g 8§ Fefafea o 4 g
g % forq ufdzi™ % yrey i 82

() T&r <AETd & =rareter
() T foaHed & 9=

() FIE & Te

(IV) T o TSITed

T feu v e § gEl IR AT -
?_

(a) L, 1L, III

(b) I,III, IV

(c) IL III, IV

(d) L, 1L, III, IV

AR dfaem & adaar diferes & el 8, faw my yaf
%I g&t o8 § afedd &

() YRd & HgrIIarar

(1) ITRIgfer

(1) TEMEsI

(IV) et e & =IareteT
T 3w T e § FE s g -
Td_

(a) III, 1V, I, 11

(b) I,III, IV, II

(c) I1,1IL 1V, I

(d) L IL IV, III

1"
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46.

47.

48.

49.
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Who among the following stated that “India is a
case sui generis”?

(a) John Seeley
(b) Alexandrowicz
(c) A.L.Basham
(d) Vincent Smith

The abolition of Privy Purses in India was carried
out through which Constitutional Amendment
Act?

(a) 24th Amendment Act, 1971
(b) 25th Amendment Act, 1971
(c) 26th Amendment Act, 1971
(d) 27th Amendment Act, 1971

Which of the following is not true regarding the
Indian Parliamentary Group (IPG)?

(a) Itis an autonomous body.

(b) It was formed in pursuance of a motion by the
Legislative.

(c) The Speaker of the Lok Sabha is the ex officio
president of the Group.

(d) The former members of Parliament cannot
become its members.

With reference to Tribunals, which one of the
following statements is incorrect?

(a) The 42nd Amendment Act of 1976 introduced
a new Part XIV-A to the Constitution, titled
‘Tribunals.

(b) Article 323 A contemplates establishment of
tribunals for public service matters only.

(c) Tribunalsunder Article 323 Bcan be established
both by Parliament and state legislatures.

(d) The Central Administrative Tribunal was set up
in 1978 with the principal bench at Delhi.

With reference to Lok Adalats, which of the
following statements is correct?

(a) Lok Adalats have no jurisdiction to settle the
matters at the pre-litigative stage.

(b) The offences which are compoundable under
any law fall outside the purview of the Lok
Adalat.

(c) Every Lok Adalat consists of either serving or
retired judicial officers only and not any other
person.

(d) No appeal shall lie to any court against the
award of the Lok Adalat.

45,

46.

47.

48.

49.

?ﬂﬁfﬁﬁﬁﬁﬁ%ﬁ#w%“wwaﬁaﬁaw
(a) S dtett

(b) TaTSIEdfT

(c) U.Ud. 'MW

(d) fodie fary

aRd § it o &1 3o g gawnfe e
e o Ares § fopan T g

(a) 24aigeied afafgm, 1971

(b) 25dT geied afafam, 1971

(c) 26aTggied afafam, 1971

(d) 27aTggiee afafam, 1971

ARAIT G919 TYg (IPC) & day & Fm=feifad & 9

BI-G1 BT G Tel 82

(a) € U @I R B

(b) =PI e fAuFHEA GRT UIid Y& o 3TJER0T §
fomam T em

(c) iiep @I 37eae] 3 THE &b U JAY T 2

(d) T4 % Jd UCH g9 e gl o gahdl

TR & de #, Fmfafad § @ wF-a1 s

TeAd 82

(a) 1976 & 42d Geite sffafay gry dfaa & T =1
T XIV-A et 7, fSrarest e e ‘=menfereseor|

(b) 31T=E 323 A Had cile daT HH@ & faw
ATTTEIEHOT ol T Bl &1 el 21

(c) 31=q 323 B & 3idiid <ArRfaIadhion ol LT 99g
3R T4 faeEe H1 gRT i ST Hebat 21

(d) ST vemEfe <mieor B w@ar 1978 § &
T oft, fSreht g die feeett # 21

agTeral & gadl F, Freffea # § s-arwaa ad e

(a) olieh 37CTeTdl ol HhgH-Ud 0T H HIHA il fHueH
BT DI ABR 71 ¢

(b) fopelt off B & ded THear A Y did
JTeTd & S Y ST A ¢

(c) ISP Tk MTd H dhael JaRd a1 JaTi-ad =i
feramrdt € wnfiret 1 €, 317 i e e

(d) @ 31e@d o Hoig & faeg foedt off =mae o
3rdiet At I ST g




50.

51.

52.

53.

Which of the following pairs (Article----Subject
Matter) is NOT correctly matched?

(a) Article 153--- Governors of states

(b) Article 200--- Assent of the Governor to the
bills

(c) Article 213--- Power of Governor to promulgate
ordinances

(d) Article 165--- Conduct of business of the
government of a state

Match List | with List Il and select the correct
answer from the code given below the lists:

List | List Il
(Parts of Constitution) (Subject Matter)
A. Part XV 1. Elections
B. Part XVI 2. Special Provisions
relating to
Certain Classes
C. Part XVII 3. Official Language
D. Part XX 4. Amendment of
the Constitution
Code-
A B C D
@1 3 4 2
(b)1 2 3 4
02 3 4 1
d3 1 2 4

Which of the following is the correct chemical
formula of Calcium hydroxide?

(a) caO
(b) CaCOs
(c) Ca(OH),
(d) CaSO.

With reference to virus, which of the following
statement/s is/are correct?

(1) It lacks enzymes necessary for the generation
of energy.

(2) It can be cultured in any synthetic medium.

(3) It can be transmitted from one organism to
another by biological vectors only.

Select the correct answer using the codes given
below-

(a) 1only

(b) 2 and 3 only

(c) 1and3only
(d) 1,2and 3

50.

51.

52.

53.

fafafed & § eF-a gm (ges v Tw)

e gAfeld T2 82

(a) 3T=G 153--- Tl & TSI

(b) 31T 200--- f9aHl W TSI & Wil

(c) 31T 213--- TAUTA i N RS HeA ol
v

(d) 3IT=E 165--- fohdt 70 1 TIHR & B o1 T

T 1 T gat 11 § gAfeld Hiforg 3k gt & i ju
gl gl I
GIECIEE R ID)) (Ava-as)
A. XV 1.g9a
B. {TT XVI 2.5 g7 9 geifed fasy
TG
C. 9T XVII 3. ST
D. 91T XX 4. GfaYT FameA
%c:
A B C D
@1 3 4 2
b)1 2 3 4
)2 3 4 1
ds3 1 2 4

fFfafad § @ Ffam eegirdEs o 98 Taafe
G D12

(a) CaO

(b) CaCOs

(c) Ca(OH).

(d) CaSO 4

?gq%ﬁaﬁﬁ,ﬁw%ﬁéﬁﬁéﬁ?wﬁmm@

/€2

(1) éﬂﬁ%%ﬁm%s%tqusm [ BT 31/
g gl

(2) =8 foralt oft Ridifees aream & dafelq fosar s aar 21

(3) IE Pael Sl drgehl gRI € U sfia & gae sfia
TR 2 Tl ¢l

i feU 77T e T IUTHT B et ST G-

(a) Paar 1

(b) e 2 377 3
(c) aeT 133
(d) 1,233

13



54.

55.

56.

57.
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The strain developed in a body in the direction
perpendicular to the applied force is called:

(1) Lateral strain

(2) Longitudinal strain
(3) Volumetric strain
(4) Shearing strain

Rainbow is produced when sunlight falls on drops
of rain. Which of the following physical phenomena
are responsible for this?

(1) Dispersion
(2) Refraction

(3) Internal reflection

Select the correct answer using the codes given
below.

(@) 1and 2 only

(b) 2and 3 only

(c) 1and3only

(d) 1,2and 3

Arrange the following substances in descending
order of their densities (from highest to lowest):

(1) lron

(2) Copper
(3) Aluminium
(4) Steel
Select the correct answer using the codes given
below-

Code-

(@) 2-4-1-3
(b) 1-2-4-3
(c) 2-1-4-3
(d) 4-1-3-2

Arrange the following waves in descending order
of their Wavelength:

i. Microwaves
ii. Gamma rays
iii. Infrared

iv. Ultraviolet

Select the correct answer using the codes given
below-

Code-

(@) i-iii-iv-ii
(b) i-iv-ii-iii
(c) ii-i-iv-iii
(d) iv -iii - i -

54.

55.

56.

57.

et fie o wme 0 571 & dead fean A fAwfdd e
&I T FHed 87

(a) Tr+f fopfar

(b) e fopfa

(c) 3 faopfa

(d) i fapfa

o9 g 1 U191 auT &Y e TR Igdl & ol Sge ST
2 g% fou Fafafed & § w9-@ @i ge
e @2

(1) fagmor

(2) 3T9adA

(3) 3idfeh Waad

T T 710 e 1 IUGIT FRP GE I G|

(a) a1 3R 2

(b) a2 3R 3

(c) et 1 33

(d) 1,233

ffeifea uerdt 1 39% 9 & 3T9R, Sade! HH
H rafedd & @=dq § F=ay a):

(1) irer

(2) dfar

(3) STegHifam

(4) =HId

T 3T 7T e 1 IUAT Fp TE IR G-
%c:

frfefaa qant &) 33! aiTeed & STTa STae wH
i. Tkl

i, T faeot

iii. SIS

iv. tR'IaTFﬁ

i foU 77T e T IUTHT Heh el ST G-
D

(a) i-iii-iv-ii

(b) i-iv - ii - iii

(c) ii-i-iv-iil

(d) iv-iii-ii-i




58.

59.

60.

61.

62.

Which of the following taxonomic ranks are
arranged in the correct hierarchical order:

(1) Species — Genus — Order — Phylum
(2) Genus — Species — Order — Kingdom
(3) Species — Order — Phylum — Kingdom
(4) Order — Species — Kingdom — Genus

With reference to the Kingdoms of biological
classification, in which of the following is the
nuclear membrane absent?

(a) Protista

(b) Monera

(c) Fungi

(d) Plantae

Which of the following vitamins is NOT fat-soluble?

(a) Vitamin A
(b) Vitamin D
(c) Vitamin C
(d) Vitamin K

Match List | with List Il and select the correct
answer from the code given below the lists:

List | (Metal) List Il (Ore)
A. Zinc 1. Cinnabar
B. Mercury 2. Franklinite
C. Tin 3. Anglesite
D. Lead 4. Cassiterite
Code:

(a) A-4,B-3,C-2,D-1

(b) A-2, B-1, C-4, D-3

(c) A-2,B-3,C-4,D-1

(d) A-4,B-1, C-2, D-3

Which of the following polymer is used in
manufacturing bulletproof glass?

(a) Teflon

(b) Bakelite

(c) Lexan

(d) Melamine

58.

59.

60.

61.

62.

fefefaa & @ #19-9 afifha & 98 ygrgea &
3&3’@?{%

(a) weTIfd — 991 — 97 — TY

(b) T — YT — 9T — ST

(c) ST — 97T — ¥g — S

(d) o1 — TSI — ST — a9

Afdep arftereor & Srdt & ded #, Fmfefed & @
e g fEieett STgufed €

(a) wifezer

(b) =T

(c) Pa®m

(d) TreT

ffefEd & @ a-a1 e gar § gasfia T8 82
(a) foafmm A

(b) fae®= D

(c) faafmm C

(d) faefmm K

Tl 1 gat 11§ gafeld Pifer ok gt & 49 fju
g1 (9mq) Tl 11 (37TEh)

A S 1.  f&er

B. URI 2. Whhferrge

c. fe= 3.  UIegige

D. &l 4. HigTEe

%c:

(a) A-4, B-3,C-2, D-1

(b) A-2, B-1, C—4, D-3

(c) A-2, B-3,C-4, D-1

(d) A4, B-1, C-2, D-3
fefefad & @ wH-91 55 eley® Tog & A3t
# 3T o St 27

(a) ewAE

(b) SepeEe

(c) W

(d) PeTHrE

15
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64.

65.

66.
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Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R):

Assertion(A): The gravitation force is same at

different latitudes on the surface.

Gravitation force is affected by the

distance from the center of the

earth.

Select the correct answer using the code given below:

Code:

(a) (A)istrue, but (R) is false

(b) (A)is false, but (R) is true

(c) Both (A) and (R) are true, and (R) is the correct
explanation of (A)

(d) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)

Reason (R):

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R)

Assertion (A): Moon'’s gravity is equivalent to one-

eighth of the earth’s gravity.

Due to less gravity, moon is unable

to retain its atmosphere.

Select the correct answer from the codes given below:

(a) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(b) (A)is false, but (R) is true.

(c) Both (A) and (R) are true, and (R) is the correct
explanation of(A).

(d) (A)is true, but (R) is false.

Reason (R):

Which of the following polymers is synthesized by
addition polymerization?

(a) Nylon-6,6
(b) Bakelite

(c) Polyethylene
(d) Terylene

Which of the following best explains the
phenomenon of diffusion of light

(a) Light waves change direction when passing
from one medium to another

(b) Light waves spread out uniformly in all
directions after passing through a rough surface

(c) Light waves combine to form a single wave of
greater amplitude

(d) Light waves reflect off a smooth surface at
equal angles

63.

64.

65.

66.

2 3 e U MU €, T o SAfeRe (A) SR gER B
HROT (R) el 71T &

UHYA (A): Tde & fafd= srgrian w TEarwmior g

GAA BT 2l

FHROT(R): oYU g Geal & ohg § g0 4
T grar 8|

T 3 7T e 1 IUAT H TE IR G

?-

(a) (A)WAE, T (R) 3TA 7
(b) (A) 3T, W] (R) TA R
(c) (A)3R(R)SFTAE, o (R), (A) I T ARATE
(d) g%)gﬁz(R)aﬁw%‘,mr_q’(R), (A) FF TE =men

T S e few TTw €, U il atfeme (a) s gaR @l
R (R) HEI T2

ATABU (A): THT 1 TocaTHYUT Yot & TeeTehio]

% 3ATSd 9T & TS 2

FROT(R):  HY T&ATHY & HRUT, IGHT AT
FIgHE TTY T & 3 2
e U 7T e & GE) ST BT 9T B

(a) (A) 3R (R) 3t 7 &, AT (R), (A) F T8
A el 2

(b) (A) 3@ &, Afs (R) T B

(c) (A) 3R (R)riaaE, 3R (R), (A) B &t e 2|

(d) (A) T E, AT (R) 30 31

ffafea & @ ®H-91 9ga® TTHS TgaAhIH

FKEGIRCAC RIS ICIEY

(a) I@H-6,6

(b) e

(c) dieiigferediT

(d) =

fefafad & @ efF-91 e & fageor i g =)

TaTfHies Suger dioh & THEITT &7

(a) TR A Ueh AT O gAY A1 B Siid I faun
SeeTd! &

(b) eI AT fohdt WG Fdg & ToRA & dig Fl
feanait & gum =7 4 et S B

(c) VIehTe a%it ficTert el ITITH aTel) Uebed ai AT €1

(d) wr%aﬁ%eﬂﬁﬁwﬁwﬁvﬁmwﬁa
Bl gl




67.

68.

69.

70.

71.

Which of the following pollutants are primarily
responsible for the formation of ground-level
ozone, a key component of urban smog?

(a) Carbon monoxide (CO) and sulfur dioxide (SO,)

(b) Nitrogen oxides (NO,) and volatile organic
compounds (VOCs)

(c) Particulate matter (PM10 and PM2.5) and
ammonia (NHz)

(d) Methane (CHs) and carbon dioxide (CO,)

Riboflavin deficiency causes which of the following
diseases?

(a) Pellagra
(b) Scurvy

(c) BeriBeri
(d) Cheilosis

Which of the following hormones is not secreted
by the anterior pituitary gland?

(a) Growth Hormone (GH)

(b) Prolactin (PRL)

(c) Oxytocin

(d) Thyroid Stimulating Hormone (TSH)

Nitrogen is not an essential constituent of

(a) Fat
(b) RNA
(c) DNA
(d) Chlorophyll

Which of the following are major chemical
components of a typical animal cell?

(1) Proteins

(2) Cellulose

(3) Lipids

(4) Nucleic acids

Select the correct answer using the code given
below-

(@) 1,2and3

(b) 1,3and 4

(c) 2,3and 4

(d) 1,2and 4
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Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R):

Assertion (A): With the increase in temperature,

the viscosity of honey increases.

Due to increase in temperature

the kinetic energy of molecules

increases.

Select the correct answer using the code given below-

Code-

(a) Both (A) and (R) are correct, and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are correct, but (R) is not the
correct explanation of (A)

(c) (A)is correct, but (R) is wrong

(d) (A)is wrong, but (R) is correct

Reason (R):

Which one of the following pairs is NOT correctly
matched?

(a) Wool----- Protein

(b) Rayon ---- Modified starch

(c) Rubber ---- Natural polymer

(d) Fullerene---- Allotrope of carbon

Which of the following rivers drain into the Kara
Sea?

(a) Don, Dniester and Neva

(b) Ob, Pyasina and Yenisei

(c) Seine, Elbe and Oder

(d) Missouri, Colorado and Columbia

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R):

Assertion(A): In order for biomagnification

to occur, the pollutant must be

long-lived.

If a pollutant is short-lived, it will be

broken down before it can become

dangerous.

Select the correct answer using the code given below-

Code-

(@) (A)istrue, but (R) is false

(b) (A)is false, but (R) is true

(c) Both (A) and (R) are true, and (R) is the correct
explanation of (A)

(d) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)

Reason (R):
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76.

77.

78.

79.

80.

Match List | with List Il and select the correct
answer from the code given below the lists:

List Il

(Highest Peak)
1. Thabana Ntlenyana

List |
(Mountains)
A. Atlas Mountain

B. Appalachian
Mountain

2. Mount Aconcagua

C. Drakensberg 3. Mount Toubkal

D. Andes 4. Mount Mitchell
Code-
A B C D
@3 4 1 2
()4 3 1 2
)3 4 2 1
d2 3 1 4

The Sea of Azov, connected to the Black Sea via
the Kerch Strait, is located between which two
countries?

(a) Greece and Turkey
(b) Russia and Ukraine
(c) Egypt and Sudan
(d) Latvia and Estonia

With reference to black soils, which one of the

following statements is incorrect?

(a) Black soils are rich in lime, iron, and magnesia.

(b) They contain a high amount of phosphorus
and organic matter.

(c) Potash is present in black soils.

(d) The color of black soils varies from deep black
to grey.

What is ‘Teal Carbon’, recently mentioned in

news?

(a) Carbonstoredin non-tidal freshwater wetlands

(b) Carbon stored in marine plants and sediments

(c) Carbon stored in terrestrial plants and forests

(d) Carbon derived through air or industrial
emissions

Which one of the following is NOT a characteristic

of tropical thorn forests?

(a) Rainfall less than 50 cm annually

(b) Trees with long tap roots and thick bark

(c) Mostly found in north-western part of Punjab
(d) Vegetation includes babool, ber and Neem
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Match List-l with List-Il and select the correct
answer using the codes given below the lists:

List-1 List-I
(Name of Biome) (Flora or Fauna)
A. Tundra 1. Coniferous evergreen
B. Taiga 2. Stunted shrubs
C. Savannah 3. Grazers and browsers
D. Tropical rain 4. Epiphytic plants
forest
Code -
A B C D
@2 1 3 4
(b)1 2 4 3
02 1 4 3
(d1 2 3 4

With reference to the Ecosystem, which of the
following statement/s is/are correct?
(1) Itis often connected in a small biome.

(2) Its capacity of self-regulation is known as
homeostasis.

Select the correct answer using the code given below-
Code-

(a) 1only

(b) 2 only

(c) Both1and?2
(d) Neither 1 nor 2

Sometimes, the number of species and the
population density of some species are much
greater in this zone than in either community.
What is this called?

(a) Niche effect

(b) Edge effect

(c) Zone of tension

(d) Habitat specialization

Which of the following natural resources are
famously associated with the Kolar and Hutti
mines in Karnataka?

(a) Copper deposits
(b) Diamond deposits
(c) Gold deposits

(d) Iron ore deposits
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85.

86.

87.

Consider the following acts and arrange them in
the correct chronological order:

() The Water
Pollution) Act

() The Air (Prevention and Control of Pollution)
Act

(M The Wildlife (Protection) Act

(IV) The Environment (Protection) Act

(Prevention and Control of

Select the correct answer from the codes given
below-

Code -

(@) na, 1, v

(b) nr,1,m, v

(c) 1,n, 1, 1v

(d) 1,10, 1, 1V

Match List | with List Il and select the correct
answer from the code given below the lists:

List |

(Tribe)
A. Nomadic Tribe
B. Pygmy Tribe
C
D

List Il

(Reside in)
Kalahari desert
Central Asia
Congo Basin
Kenya

Bushman Tribe
Massai Tribe

O

Code -

A
() 1
(b) 1
(c) 2
(d) 2

W W N W
, A W MO
2A R, A ND

Which of the following are cold local winds?

(1) Sirocco
(Il) Levanter
(1) Purga
(IV) Pampero
(V) Zonda

Select the correct answer from the code given
below-

Code -

(@ 1, m

(b) 1,m,1v,Vv
(c) 1,1, 1v

(d) 110,10, 1V, V
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Which of the following statements about Nekton
is correct?

(a) They are free-floating organisms that live at
the air-water interface, such as floating plants.

(b) They are organisms that remain attached to
the stems and leaves of rooted plants.

(c) They are aquatic animals capable of swimming
actively.

(d) They are organisms found dwelling at the
bottom of the water body.

With reference to the Suez Canal, which of the
following statement/s is/are correct?

(1) It is the largest man-made canal in the world,
opened for navigation in 1869.

(2) It reduced the distance between Europe and
India by 7000 km.

Select the correct answer from the code given
below-
Code-

(a) 10nly

(b) 2 Only

(c) Both1and?2
(d) Neither 1 nor 2

Match List | with List Il and select the correct
answer from the code given below the lists:

List | List Il
(Waterfall) (Location)
A. Salto Angel 1. Venezuela
B. Tugela waterfalls 2. South Africa
C. Ribbon falls 3. United States
of America
D. Browne falls 4. New Zealand
Code -
A B C D
(@1 2 4 3
b)y1 2 3 4
02 4 3 1
d2 3 1 4
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93.

94.

With reference to the Eastern Ghats, which of the
following statements is incorrect?

(1) The Eastern Ghats are characterized by
continuous high mountain ranges.

(2) Mahendragiri in Odisha is one of the highest
peaks in the Eastern Ghats.

(3) The Javadi hills and Nallamala hills are part of
the Eastern Ghats.

(4) The Eastern and Western Ghats meet at the
Nilgiri hills.

Select the correct answer using the code given
below:

(a) 1only

(b) 2and 3 only

(c) 3and 4 only

(d) 4 only

Which of the following sequences correctly
arranges the states in ascending order based on
their shared length with the Ganga River?

(a) Uttarakhand, Bihar, West Bengal, Uttar
Pradesh
(b) Bihar, Uttarakhand, West Bengal, Uttar

Pradesh
(c) Uttarakhand, West Bengal, Bihar, Uttar Pradesh
(d) WestBengal, Bihar, Uttarakhand, Uttar Pradesh

With reference to the existence of pollutants in
nature, which of the following statement/s is/are
correct?

(1) Qualitative Pollutants occur in nature.

(2) Quantitative Pollutants do not occur in nature.
Select the correct answer using the code given
below-

Code-

(a) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

Which of the following pairs (Instrument ----Use) is
incorrectly matched?

(a) Opisometer —Used to measure distance on
maps
(b) Manometer —Used to measure the pressure
of gas
(c) Anemometer — Used to measure direction of
wind
(d) Barometer —Used to measure atmospheric
pressure
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Byssinosis primarily affects which organ of the 95.

human body?

(a) Heart
(b) Liver
(c) Lungs
(d) Kidneys

Given below are two statements, one is labeled as  96.

Assertion (A) and the other as Reason (R):

Assertion (A): Western Ghats experience an

orographic rainfall pattern along

India’s west coast.

Moisture - laden southwest

monsoon winds from the Arabian

Sea encounter this mountain range.

Select the correct answer using the code given

below:

(a) Both (A) and (R) are true, and (R) is the correct
explanation of (A).

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(c) (A)istrue, but (R) is false.

(d) (A)is false, but (R) is true.

Reason (R):

Which of the following is a hot water stream? 97.

() Equatorial counter current

() Kuroshio current

(M california current

(IV) Somali current

Select the correct answer from the code given
below-

(@) n

(b) 1,11, IV

(c) v

(d) 1,11, 111, IV

Which of the following is/are NOT examples of In-  98.

situ conservation?

() Reserved forests

(I Seed banks

(Il1) Botanical gardens
(IV) Protected forests

Select the correct answer from the codes given below-
Code -

(a) only
(b) Iand lll only
(c) monly

(d) rand Ill only
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99.

100.

101.

102.

103.

Which of the following rivers is an ephemeral
river?

(a) Chambal
(b) Luni

(c) Godavari
(d) Narmada

Which of the following pair (Ramsar Site----State)
is NOT correctly matched?

(a) Kanjli Wetland---Haryana

(b) Kolleru Lake---Andhra Pradesh

(c) Loktak Lake---Manipur

(d) Nalsarovar Bird Sanctuary--- Gujarat

What is the approximate normal lapse rate in the
troposphere?

(a) 4.5°C per 1,000 meters
(b) 5.5°C per 1,000 meters
(c) 6.5°C per 1,000 meters
(d) 7.5°C per 1,000 meters

Match List | with List Il and select the correct
answer from the code given below the lists:

List | List Il
(Research Institute) (Location)
A. National Sugar 1. Kanpur

Research Institute

B. National Veterinary
Research Institute

2. lzzatnagar

C. National Research Centre 3. Jhansi
for Agro Forestry
D. Birbal Sahni Institute 4. Lucknow

of Palaeobotany

Code -

A B C D
@1 3 4 2
b)1 2 3 4
)2 3 4 1
d2 3 1 4

Which pulses are focused under the 6-year self-
reliance mission announced in the Union Budget
2025-267?

(a) Chana, Rajma, Chickpeas
(b) Arahar, Soybean, Moong
(c) Tur, Moong, Masoor

(d) Tur, Urad, Masoor
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(a) Hee

(b) ot

(c) e

(d) FHar

ffefed § 9 oF-91 g (THER W - T5) 98!
3 gaferd el €

(a) STell dewe---gRarmon

(b) lect® liet--- 31 wam

(c) iehereh glieT --- Ao

(d) TEaER geft IR --- TR
elsTHEe § TTHTRT &7 S T ot 27

(a) 4.5°Cufd 1,000 Htez
(b) 5.5°C ufa 1,000 Hiex
(c) 6.5°C ufa 1,000 Hiex
(d) 7.5°C ufa 1,000 Htex

T 1 T gat 11 § GAfeld Hiforg 3k gt & i fju
Qe § FEl IR gHT:
gl g I
(GTFEY §&IH) (31 )
A. TYH U5 SFELT eI 1. HHER
B. UG us] afemaar 2. TSR
YT GEITH
C. TP HY qfAh! @ g 3. et
D. §RE qTe-! Ja-edrd 4. qAGTS
fogm dem
e -
AB C D
@1 3 4 2
b)) 1 2 3 4
)2 3 4 1
d2 3 1 4
A TIE 2025-26 § G 6-a91g ATA AT fHLH
% ded 1o gredl O 2T Shigd fapar mar &2
(a) =T, T, Bler
(b) 3REX, A, T
(c) 3E, T, TR
(d) 3R, 33, W[
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104.

105.

106.

107.

108.
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Who is the founder father of modern economics?  104.

(a) John Maynard Keynes
(b) Karl Marx

(c) Adam Smith

(d) David Ricardo

Match List | with List || and select the correct 105.

answer from the code given below the lists:

List | (Event) List Il (Year)
A. Rangarajan Committee 1. 2009
B. Alagh Committee 2.1993
C. Tendulkar Committee 3.1979
D. Lakdawala Committee 4.2012
Code-

A B C D
@3 4 2 1
)4 3 2 1
(04 3 1 2
d3 4 1 2

Which of the following relates a geographical area  106.

to the population living in it?

(a) Population Redistribution
(b) Population Density
(c) Population Census
(d) Population Survey

Where is the headquarters of the European 107.

Investment Bank located?
(a) Brussels

(b) Paris

(c) Luxembourg

(d) Frankfurt

With reference to the second five-year plan, 108.

consider the following statements?

(1) Drought Prone Area Programme was launched
during the plan.

(2) 1t was planned under the leader ship of
Mahalanobis Plan.

(3) its aim was to make India a ‘self-reliant’ and
‘self-generating’ economy.

Which of the statement/s given above is/are correct?

(a) 2 only

(b) 3 only

(c) 1and3only
(d) 1,2and 3

AY(Ieh AT G B &7
(a) S BTE BT

(b) I HTrd

(c) TeHfHy

(d) 2fae feapret

T 1 1 g 11 € gAferd SifSe sk gt & e i

Y e 8 Tel W IHT:
it 1 ()

A. e gfafd

B. 3TeTd GfHfd

C. dgaimt gfafd

D. TeTaTel Fiafd

&
A

(@) 3

(b) 4

(c) 4

(d) 3 2

fFafefea & @ oF-a1 wua fedt mfeae &

3GY & aTel) SEET 4 SiedT 82

(a) STEREAT gAfdaroT

(b) SHIAT g

(c) STHEHEAT SITOET

(d) SHI=I gdegor

UG A S o1 qeaTerd wel feid 87

(a) FoH

(b) dfem

(c) cTarsHaT

(d) Thepme

g At de & g #, Fafafed wet w

o ®e-

(1) TSI & R & Ta0T 85 HrRicHH T& fbar Tl

(2) ETH! TSHI HRTAATST FISiT o Adcd | §T8 T8 T

(3) THPI IETT U &l Ueh «HATHAHD 3 EF-3Teeh>
I ITLT T T

3ugerd § & M 91/8 U TE /87

(a) haa 2

(b) eel 3

(c) el 33
(d) 1,233

el 11 @)
1. 2009
2.1993
3.1979
4.2012

AW W o W
— = N N O
[\3!—4D—4U




109.

110.

111.

112.

113.

Which of the following is the base year for the
Index of Eight Core Industries (ICl) in India?

(a) 2004-05
(b) 2011-12
(c) 2012-13
(d) 2010-11

In which year was the Insurance Regulatory and
Development Authority (IRDA) constituted?

(a) 1998
(b) 1997
(c) 1999
(d) 2001

Match List | with List Il and select the correct
answer from the code given below the lists:

List | List Il
(SDGs Number) (Goals)
A. SDG 3 1. Quality education
B. SDG 4 2. Good health &
well being
C. SDG 13 3. Peace, Justice &
Strong Institutions
D. SDG 16 4. Climate action
Code -
A B C D
@2 1 3 4
b)1 2 4 3
02 1 4 3
di1 2 3 4

Who was appointed in 2013 to review the
Microfinance Sector in India?

(a) Raghuram Rajan
(b) Y. H. Malegam
(c) U.K.Sinha

(d) K.C. Chakrabarty

The Kuznets Curve is best described as having
which of the following shapes?

(a) U-shape

(b) Inverted U-shape

(c) V-shape

(d) L-shape

109.

110.

111.

112.

113.

YA A ATS BRI (IC1) F Guhich & felw Fmfafea
H Y pI-91 AR Y 82

(a) 2004-05

(b) 2011-12

(c) 2012-13

(d) 2010-11

a1 e 3 fAw™ Wit (1IRDA) &1 e
ERELIERIRIEIEIH

(a) 1998
(b) 1997
(c) 1999
(d) 2001
I 1 1 gt 11 & gAfera FHifeg i gt & 9 g
g1 gl 11
(SDG H&A) (FT8)
A. SDG 3 1. T[OTaATYoT farerm
B. SDG 4 2. 37T W 3R e To]
C. SDG 13 3. QTifd, =T 3R Aot demd
D. SDG 16 4. QTG HIETR
7 -
A B C D
@2 1 3 4
b)y1 2 4 3
2 1 4 3
d1 2 3 4

IRA § ATSHIBISAE &7 P gHie & foiw af 2013 #
forel Fgera foma 1T a2

(a) TYIH ST
(b) arET= AT

(c) e faier

(d) St Thadr

Folg ab @l HEfad 8 § fhg oeR & &9 §
gatas &9 § afvia fomar mar a2

(a) U-3mpRrR

(b) 3weT U-3MhR

(c) V-3hR

(d) L-3T6R
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114.

115.

116.

117.
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When among the following was Uttar Pradesh 114.

Public Service Commission formed?

(a) May1,1937
(b) April 1, 1935
(c) June 1, 1937
(d) April 1, 1937

Consider the following events and arrange them in  115.

the correct chronological order, starting from the
earliest:

() Ujala Scheme

(I PM SVANidhiScheme

(1) Sansad Adarsh Gram Yojana
(IV) Gold Bond Scheme

Code:

(@) n, 1, 1v, 1
(b) 1,1, v
(c) v, 1,1, 11
(d) n, 1,10, 1v

Which of the following is NOT a determinant of 116.

Minimum Support Price?

(a) Cost of production

(b) Demand and supply

(c) Intra-crop price parity
(d) Changes in input prices

As per ‘One District One Sport’, match List-1 with  117.

List-1l and select the correct answer from the code
given below the Lists:

List- | List- 1l
(Game) (District)
A. Football 1. Gonda
B. Athletics 2. Shravasti
C. Kabaddi 3. Ballia
D. Hockey 4. Hathras
Code -
A B C D
@1 3 4 2
b)ya 3 1 2
04 3 2 1
d2 4 3 1

Frafafed & 9 3T 2T ot TaT AT &1 78 &
fopa T o

(a) 14,1937

(b) 1 31, 1935

(c) 13M,1937

(d) 1 3me, 1937

ffafad gemsi w foeR #¢ 3t 3= 99 Tea @
& HXd §U Tel HITIohH § aafed we:
IEESIGIEISE

(1) drug @fAfer disEn

(Ill) TTEE 3ATEY U IistT

(IV) TieS §T98 JiStT

P

(a) IIL, 1,1V, 1I

(b) L, III, II, IV

(c) IV,IL I, III

(d) II, 1, III, IV
fFafafed # @ ofF-a1 gAaw gudq e &1 Fuie
T

(a) 3dTGH @I

(b) =T 31T 3myfd

(c) SIR-BaA Fod FHAT
(d) g79e Hmar & ufad

TS IelT U @' & AR, Gal-1 1 Gali-11 & GAferd

HIferg 3k gt & 4 fou v e § ge I gHT:
gdl- 1 gdl- 11
(W) (fSrem)

A. eard 1. TEr

B. UYcifcad 2. HTaEd

C. HEgl 3. feran

D. il 4. TUE

Fc: -

A B C D

@1 3 4 2

(b)4 3 1 2

)4 3 2 1

d2 4 3 1




118.

119.

120.

121.

122.

With reference to the Asian
Investment Bank, which of
statement/s is/are correct?

the following

(1) Itis headquartered in Manila, Philippines.

(2) Its 2025 annual meeting took place in Beijing.
Select the correct answer using the code given
below-

Code-

(@) 10nly

(b) 2 Only

(c) Both1and?2
(d) Neither 1 nor 2

With reference to the Reserve Bank of India (RBI), 119.

the rate at which it provides loans to commercial
banks is called:

(a) Interest Rate

(b) Repo Rate

(c) Reverse Repo Rate
(d) Deposit Rate

When among the following was the Constituent 120.

Assembly formed under the proposals suggested
by the Cabinet Mission Plan?

(a) November 1946
(b) September 1946
(c) November 1947
(d) September 1947

Arrange the following events in chronological 121.

order and select the correct answer from the code
given below:

() Hindustan Republican Association
() Death of Gopal Krishna Gokhale
(1) Nehru Report

(IV) Lucknow Pact

Code:

(@) ,u, 1, v
(b) 1,1, 1v, I
(c) 1, 1v, 1,1
(d) 1,1, n, v

India’s National Air Quality Index (NAQI) monitors 122.

the concentration of eight key pollutants. Which
of the following lists is correct?

(a) PMso, PMa.s, NOz, 03, SOZ, NH;s, CO, Pb
(b) PM..s, PMso, NO,, O3, CO, SO3, NHs, Pb
(c) PMso, PM3.5, O3, SO,, NO,, CO2, NHs, Pb
(d) PMsg, PM3.5, NO,, O3, SO,, CO, NH3, VOCs

Infrastructure 118.

TfaTE SaaceH Ay d6 & e §, FAefafea @
DH-91/A HYT FEl /27

(1) BEHI eI Heitetl, fopetidia & 21

(2) TFH 2025 I aftich Jadh i F 2

T f3u 7T e & T F g S Y-
%c:

(a) ad 1

(b) o 2

(c) 1 3ik2aHt

(d) A1 3RTE2

AT fod 96 RBI) & ded #, 59 @ W T8
IO Sent Y 0T UeTH T ¢ 38 el AT &
(a) ISR

(b) TR

(c) fradwarex

(d) smTeR

HfFe WA A g gee e st % ded
G g1 &1 7o+ e foar 1maT am?

(a) T 1946

(b) s 1946

(c) TdsR 1947

(d) fordsR 1947

frafafea gest # wremgmn # wafen w sk
I 3T 77T e 4 96 ST H I B

() fegem fufere Eiftoem

(1) TigTeT 5507 TiRaet i g

() g faré

(IV) &S

e

(a) L 1L III, IV

(b) L, 111, IV, II

(c) IL IV, I, III

(d) 1IL 1, II, IV

9Rd &1 TP 919 oTad1 §a@is (NAQI) FHfafea
T q DI-T 376 TYE TSB! bl Figdl I el T@dT 82
(@) PM1g, PM,.5, NOg, O3, SOz, NH3, CO, Pb

(b) PMs.s5, PM1o, NOo, O3, CO, SO 3, NH3, Pb
(c) PMio, PMa.5, O3, SOs, NO,, CO 2, NH3, Pb
(d) PM1g, PM.,.5, NO3, O3, SO, CO, NH3, VOCs
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123.

124.

125.

126.
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Which of the following national leaders did not
defend soldiers of the Indian National Army in the
1945 case dealing with trial?

(a) Sir Tej Bahadur Sapru
(b) Rajagopalachari

(c) Bhula Bhai Desai

(d) Jawaharlal Nehru

Which of the following statements is not correct
with reference to the Treaty of Allahabad (1765)?

(a) Allahabad and Kara were handed over to the
Mughal ruler.

(b) The emperor gave Diwani right of Bengal, Bihar
and Orissa to the East India Company.

(c) It was decided to pay Rs 50 lakh annually to
the Emperor by the company.

(d) The British were given complete control over
financial administration.

With reference to the ‘Gandhi Irwin Pact’, consider
the following statements:

(1) 1t was signed on March 5, 1932, between
Mohandas K. Gandhi and Lord Irwin.

(2) GandhiagreedtoattendthesecondRoundTable
Conference in London after this agreement.
Choose the correct answer from the code given

below-

(@) 1only

(b) 2 only

(c) Both1and?2
(d) Neither 1 nor 2

Given below are two statements, one is labeled as
Assertion (A) and the other as Reason (R):

Assertion (A): The Cabinet Mission proposed a
three-tier federation for India with
a weak central government.

Reason (R): It recommended the existing
provincial assemblies be grouped
into three sections while electing
the constituent assembly.

Select the correct answer using the code given below:

(a) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A).

(c) (A)istrue but (R) is false.

(d) (A)is false but (R) is true.

123.

124,

125.

126.

frfafaa & 4 fbg T Ad1 3 1945 & ghed §
TRATG TFI 1 3 bl o =1d &1 [

(a) AT QI AY

(b) TSTITGATETY

(c) eTuTE carg
(d) STaTgTetet 15E

ARG I |iE (1765) & dad # Fmfafea & @

DI-H1 HU T e &2

(a) BETETEIG 37 el Bl HiTeT Wb &1 ANT fear Tl

(b) TETe A SeT, iR 3R 3T & Sart Te & 3fiwr
PI e e Ul &1 iy fea

(c) U gRI THTe &l Ufaas 50 @Ra 39 3 & vl
forar mam

(d) farcii e o2 3iSH ol qof fsrr & faam

et gfe Te % oo #, Fmfafad sl w

ﬁ?l'l'{a'f{

(1) 39 W 5 AT, 1932 & Higaad &. et 3T @i
e o ol gEIeR 5T A1

(2) 29 THEIA & a1 TiTesh wied & g1 o & et
e T 9T @4 o foTe ggad g1yl

I T3 7T e & TEl W H-

(a) daar 1

(b) haeT 2

(c) 1 32 eHt

(d) Fdr 1 3RAE2

T 2 o fU U B, U Y 3ifiepe (a) SR g@m
HRUT (R) FHal T &

HfHHA (A): Hise fHIH 7 9 & oy 1 FHeR
HEIT GHR a1l -1 07 T8 &1 y&d1a
@Il

94 Gfa9™ 997 H1 g1 dd 96
Hieer wida faemrgsmatt & i s &
e I fawIier Hil

T (R):

) foU TTT e 1 ITANT Heh el S G-

(a) (A)3R(R) AT TaE 3 (R), (A) Bl Fg @ g

(b) %_) ?(R)ﬁw%@m(m, (A) S FEr e
|

(c) (A)FFEAHB (R) @A 2l

(d) (A) 31EA g Aifeh (R) T 2




127.

128.

129.

Consider the tribal rebellion that took place during
the British period and arrange it in chronological
order:

() Munda rebellion

(1) Santhal rebellion

(1IN Kol rebellion
(IV) Ahom rebellion

Select the correct answer from the code given below-
Code -

(@) 1L Iv,

(b) n, 1,1, 1v

(c) v, 1, 1,0

(d) 1,1, v1, 1l

Match List | with List Il and select the correct
answer using the code given below the lists:

List | List Il

(Magazine) (Associated Region)
A. Amrita Bazar Patrika 1. Bombay

B. Kesari 2. Bengal

C. Andhra Prakasika 3. Madras

D. Indu Prakash 4., Uttar Pradesh

Code-

(a) A-2,B-1,C-3,D-4
(b) A-2,B-1, C-4, D-3
(c) A-3,B-2,C-1,D-4
(d) A-2,B-3,C-1,D-4

The August Offer, a popular conciliatory measure
by the British government to secure the support
of Congress or India in its war operations, includes
which of the following provisions?

(1) The August offer provided a veto to Muslims.

(2) The making of the Constitution was solely to
be done by Indians.

(3) Right to withdraw from the commonwealth
was proposed.

(4) It explicitly mentioned the provision of
Dominion status for the first time.

Select the correct answer using the code given below-
Code-

(a) 1and 2 only
(b) 1,2,3and 4
(c) 1,2 and 4 only
(d) 1only

127.

128.

129.

fafesr e 3 g gu anfeard fagie W foem ¢ 3l
E@Taﬂi‘l JohH T afed o ;

() Herfagte

() Gere fagrg
() it fagig
(Iv) 31EIH fasig

%c:

(a) L IIL IV, III
(b) II, L III, IV

(c) IV,IILII, I

(d) IL I, VL, III

9 fow MU e & wE ST YT -

I 1 1 gt 11 & gAfera FHifeg i gt & 9 g
Y e &1 YT T Fel I gHT:

gl gl 11

(afrepT) (g &)

A. 3d SR 9T 1. 998

B. g 2. 9T

C. Y yepTISTenT 3. HgE

D. §g U@ 4. FAYGY

&

(a) A-2,B-1,C-3,D-4
(b) A-2, B-1,C-4, D-3
(c) A-3,B-2,C-1,D-4
(d) A-2, B-3,C-1,D-4

ITE wEE, fofesr TR g oq gg rfaari o

FHIUF T YR T A BIfE e o ol T eAlem g

T 3UT &, forgd Fefafad d§ @ eF-a1 e

A &2

(1) 3N & Y H GUeTH] i dtel &1 1fieR far
T

(2) Tfqem™ &1 Ao g8 aeg & YRa g fosar ST ol

(3) TTHEE & g Pl AfIBR Tt fosar

(4) ETH U 9K SIMATE Ted & YaaT ol WY 3ol
fopar mem

T feU 7T e T HEIT R gEl ST G-

D

(a) ae 1 3R 2

(b) 1,2,3 34

(c) 1,234

(d) waa 1

31



130.

131.

132.
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Match List | with List Il and select the correct
answer using the code given below the lists:

List | List Il

(Centre of Revolt of 1857) (Leader)

A. Lucknow 1. Birjis Qadir

B. Allahabad 2. Gajadhar Singh
C. Kalpi 3. Maulvi Liagat Ali

D. Gorakhpur 4. Tatya Tope

Code —

(a) A-1,B-2,C-3,D-4
(b) A-1,B-3,C-4,D-2
(c) A-3,B-2,C-1,D-4
(d) A-2,B-3,C-1, D-4

Match List-l with List-ll and select the correct
answer using the codes given below the lists:
List-I

(Treaties)

A. Aix-La Chapelle
B. Treaty of Paris

C. Treaty of Madras

List-I

(Wars)

1. Third Carnatic War

2. First Carnatic War

3. First Anglo-Mysore War

D. Treaty of 4. Second Anglo-
Mangalore Mysore War

Codes:
A B C D

@1 2 3 4

b)y1 2 4 3

(¢02 1 4 3

(d2 1 3 4

With reference to the Socio-Religious Reform
Movements in India, which of the following
statement/s is/are correct?

(1) The Age of Consent Act (1891) forbade the
marriage of girls below the age of 14.

(2) The Sarda Act (1930) further pushed up the
marriage age for girls to 18.

Select the correct answer using the code given
below-

Code-

(a) 1only

(b) 2 only

(c) Both1and?2

(d) Neither1or2

130.

131.

132.

Tl 1 ) gat 11 § gAfeid Hiforg 3k gt & i fju

Y e &1 YN T el 3T gHT:

gHl1 gl 11

(1857 Ffaie®wdHg) (AN

A. AETS 1. fofea R

B. SAEINTG 2. ToMeR e

C. HIeAd! 3. Hierd! foramend atett
D. TTREJR 4. qTATEN

%e: -

(a) A-1,B-2,C-3, D-4
(b) A-1,B-3,C-4, D-2
(c) A-3,B-2,C-1,D-4
(d) A-2, B-3,C-1,D-4

-1 Y ge-11 & gAferd HIfST ik gfat & i fag

Y e T TN HY Tel ST IHT:

-1 gHl-11

(wifer) @ry

A. TFI-oT I 1. A e gg

B. Ufq &I €f 2. 9H FHACH g

C. Hgg & |fY 3. VI ATA-AG g

D. HTR 1 Gy 4. g - Age gg

&
AB C D

@1 2 3 4

b)1 2 4 3

)2 1 4 3

d2 1 3 4

IR § G- gur el & gy ¥,

frfefad § 4 oi9-a1/8 Hu 98 /82

(1) TSI 3% i< Afafag (1891) 14 a¥ 4 &HH 3
&I Tl o fdarg W Aes @ ¢

(2) oRer sffafaan (1930) 7 wiefosal &f faarg 3y &l
TeTeh? 18 I8 &e fe|

T feU 7T e T T R gEl ST G-
D

(a) Paar 1

(b) a2

(c) 1 3fi22H

(d) Fdr 1 3RAE2




133.

134.

135.

136.

Which one of the following statements is correct?

(a) Jonathan Duncan was the first to translate the
Bhagavad Gita into English.

(b) Lord Cornwallis appointed
Commission.

(c) Censorship of Press Act of 1799 was passed
under the leadership of William Amherst.

(d) James Prinsep was the founding editor of the
Journal of the Asiatic Society of Bengal.

the Amini

With reference to Land Revenue Systems in British
India, which one of the following statements is
correct?

(a) Sir Thomas Munro started the Mahalwari
system in the north-western provinces of
Bengal presidency.

(b) The Ryotwari system was introduced by Holt
Mackenzie in parts of southern India.

(c) Theintroduction of the Permanent Settlement
in Bengal improved the fertility and overall
condition of the agricultural land

(d) Land Revenue System was a policy that helped
the British conquer a diverse country after
acquiring heavy taxes from the people.

With reference to Awadh Kisan Sabha, which of
the following statement/s is/are correct?

(1) Awadh Kisan Sabha was formed in 1920.

(2) Ramchandra was the main leader of Awadh
Kisan Sabha.

Select the correct answer from the code given

below-

Code -

(a) Both1and?2

(b) Only 1

(c) Neither 1 nor 2

(d) Only 2

With reference to the Khilafat Movement, which
of the following statement/s is/are correct?

(1) Under the leadership of Gandhiji Khilafat
Committee was held in Allahabad.

(2) Khilafat Day was celebrated on 31 August 1920.

Select the correct answer from the code given

below-

Code -

(a) Both1and?2
(b) Only 1

(c) Neither 1 nor2
(d) Only 2

133.

134,

135.

136.

fefefed 3 9 ®-a1 wuT 981 82

(a) ST a6 WITaG THaT o1 37Tt B 371G Hed aral
g b I

lb] =T TR S i e A Sy

(c) 1799 @1 U9 W fafan fafeay wee &
A § uTfed fopa T em

(d) g fSigT sTet URRIfesd gidmse! o SiHd & GLddh
HUrees I

fafesr ara & fa werea yonferat & gesi &, Fefefad

H @ PI-91 B Gl 27

(a) T oM g 7 dmet SR & sa-ufydt v
HeTeTdTe! G IE Bl

(b) FITATE! YOTE Bl YB3 Elee Hepsit 3 afaroft yrd
& 5o fewi 8 & o

(c) ST <ot Sated i Y3t J HiY YfH Hi 3dear
3 gry el & geam ga

(d) 9 Toea yomett U Tt Aifa ot foa @t & ot

T I b 91G 31UST Bl U f[afqe S IR fasa ured
& H Heg Bl

g% fora g9 & de #, Aefeied § 4 w=-ar/d
B GEl /27

(1) e &M G7 BT Te a9 1920 H §3I
(2) TG 3G fhd G & Y& =T &

T ST 77T e & Fel I H1 997 k-

Td_

(a) 1 3iiz22m

(b) waa 1

(c) FdT 1 3RAF2

(d) oae 2

fEeT®d S & gy #, Fafefaa & @ e-ar/a

HYT TE /22

(1) TERST & Age & gergTee § Raethd afify Bl dow
|

(2) gﬁlﬂﬂﬁﬂ'ﬁm 3T, 1920 &l 7A@ T

T ST 77T e & Fel I H 997 k-

Td_

(a) 1 3fik 23

(b) pae 1

(c) a1 3RAE2

(d) oae 2
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137.

138.

139.
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Match list | with list Il and select the correct answer
from the code given below the lists:

List | (Author) List Il (Work)
A. Nuh-Sepihar 1. Ibn Battuta
B. Futuhu-us-Salateen 2. Barani

C. Rehla 3. Isami

D. Fatwa-e-Jahandari 4. Amir Khusro

Code -

A B C D
@1 3 4 2
()2 3 1 4
04 3 2 1
da 3 1 2

Given below are two statements, one is labeled as
Assertion (A) and the other as Reason (R):

Assertion (A): The people in Chalcolithic Age lived

in thatched houses made of mud

bricks.

The people in Chalcolithic Age were

not acquainted with burnt brick.

Select the correct answer using the code given below-

Code-

(a) Both (A) and (R) are true, and (R) is the correct
explanation of (A)

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)

(c) (A)istrue, but (R) is false

(d) (A)is false, but (R) is true

Reason (R):

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R):

Assertion (A): The largest number of Persian

works on classical Indian music was

written in Aurangzeb’s reign.

Aurangzeb was a great patron of

Classical Indian Music.

Select the correct answer using the code given below-

Code-

(a) Both (A) and (R) are true, and (R) is the correct
explanation of (A).

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(c) (A)istrue, but (R) is false.

(d) (A)is false, but (R) is true.

Reason (R):

137.

138.

139.

Tl 1 ) gat 11 § gAfeid Hiforg 3k gt & i fju

el 1 (1) Tl 1 ()
A. Te-TafEr 1. 351 ST
B. PJg-39-GelTd 2. S
C. el 3. gamt
D. WdaT-U-Telant 4. R GE
e
AB C D
@1 3 4 2
by2 3 1 4
04 3 2 1
)4 3 1 2

9 &) o feT MU B, U ol i (A) R gE@ A
FT (R) FET T &:

SIIHUT (A): ATHITITOT AT & o St ot ef & &7

% & o3 B @ 3

FROT(R):  ATHUTYIOT AT o T Ueh! g8 ¢ 9 Rt
T2

T feU 7T e T T R gEl TR G-

?CT.

(a) (A) 3R (R) T, 3R (R), (A) P @t e g

(b) (A) 3R (R) Ef & &, @b (R), (A) F T
AR e &

(c) (A)TAE, A (R) 38

(d) (A) 5 8, @fte (R) T 8

T < Ho Ry Mg &, Uk Y e (A) SR gE

PO (R) el T &:

ATFHYT (A): TSI ARAT GMd | 999 319w
WA TN ST & AR B

IECIRIE]

HROI(R): Ao UTST HRAIG Fifid &1 qe
L& oT|

T feU 7T e T T R gEl ST G-

D

(a) (A)3IR(R)EHTAE IR (R), (A) Hr oA

(b) (A) 3R (R) 2t &= €, @ (R), (A) 6l T
AR A8l 2l

(c) (A)TFE, Al (R) 39 2|

(d) (A) 3@ g, Afe (R) T 21




140.

141.

142.

143.

With reference to Delhi Sultanate, which one of 140.

the following pairs is correctly matched?

(a) Diwani Ariz ----- Department of Religious

Affairs
(b) Diwani Rasalat ----- Department of Military
(c) Diwani Wizarat ----- Department of Finance
(d) Diwan-i-kohi ----- Department of Arrears

Match List-l with List-ll and select the correct 141.

answer using the codes given below the lists:

List-1 (Ancient sites) List-1l (Present states)

A. Burzahom 1. Assam
B. Daojali Hading 2. Kashmir
C. Chandraketugarh 3. Tamil Nadu

D. Adichanallur 4. West Bengal

Codes:

A B C D
@4 2 1 3
b)1 2 4 3
)2 1 3 4
d2 1 4 3

Match List-l with List-Il and select the correct 142.

answer using the codes given below the lists:

List-1 (Mahajanapadas) List-1l (Capital)

A. Vajji 1. Ayodhya
B. Avanti 2. Kausambi
C. Vatsa 3. Ujjain
D. Kosala 4. Vaishali
Codes:
A B C D
@4 3 2 1
()4 3 1 2
()3 4 2 1
d1 3 4 2
With reference to ancient Indian Historical 143.

literature works written by various authors/
scholars, which of the following pairs is incorrectly
matched?

(a) Silappadikaram — Illango

(b) Manimekalai -- Seethalai Saathanar

(c) Naishadhacharitra — Shri Harsha

(d) Trishasthilkshana Mahapurana -- Candrakirti

el oad & eyl §, Fefefea § 4 wH-a1 gm
e gAfeld 2

(a) Start Mt ----- enfefes omet o faumr

(b) STt TEeAd ----&= famr

(c) Srar fasRd ----- fot o

Y1 1 g1 @ gafera Hife 3k giagt & T fig
Y e &1 YN T el 3T gHT:
I (VT &2eT) GEI-11 (TAHHE TST)
A. golRH 1. 3T8H
B. GI3MSITel gfe 2. HYER
C. dghqTe 3. AMTg
D. JTfcaeeR 4. afs=m s
%c:
AB C D
@4 2 1 3
b)y1 2 4 3
2 1 3 4
d2 1 4 3
Y1 B gEY-11 & gAfera SHifee 3k gl & 9 fig
1Y Fe 1 JANT X Tl TR T
Gell-1 (RT3 Tell-11 (T
A. gfss 1. 3ITET
B. 3fdd! 2. HIQTT
C. ad 3. 356
D. HEd 4.%ana°r
%c:
AB C D
@4 3 2 1
b)4 3 1 2
€3 4 2 1
d1 3 4 2

fof= @ewl/fogal g fafea ume arda
Ufderfde gt & deif 8 Fmfafed & @ eF-a
T TTeTd GAfeld 7

(a) RreTfedmRe - gamm

(b) wiSMHeR - didet AR

(c) Awerifed - digd

(d) Pref¥ereror AgTgarT - <igehifd
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145.

146.

147.
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Which one of the following ancient caves in
India is well-known for its excellent arrangement
for water, with skillfully chiseled water tanks,
exquisitely carved into the rocks?

(a) Pabhosha Cave

(b) Muchkund Cave
(c) Pandavleni Caves
(d) Bagh Cave

With reference to the Nalanda university, which of
the following statement/s is/are correct?

(1) t was founded during the
Chandraguptal ll.

(2) The Chinese scholars I-Qing and Xuan Zang
visited Nalanda in the 7th century CE.

reign of

Select the correct answer using the code given
below-

Code:

(@) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

Which one of the following pairs (Book - Author) is
NOT correctly matched?

(a) Devichandraguptam- Visakadatta
(b) Mudhrakshasam- Natyashastra
(c) Kathasaritsagar- Somadeva

(d) Swapanvasdattam- Bhasa

With reference to the Khalji Dynasty, consider the
following statements:

(1) The rise of the Khaljis to power ended the
Turkish monopoly of high offices.

(2) Alauddin Khalji banned using wines and
intoxicants.

(3) Jalaluddin Khalji had a benevolent attitude
towards Hindus.

Select the correct answer using the code given
below-
Code-

(@) Only1and2
(b) Only 2 and 3
(c) Only1and3
(d) 1,2and 3

144.

145.

146.

147.

ard # Ffafad i qeet & @ e g
T Y 3cpy ae & fo ufdg €, oad puerar
 qaeft 7 ur B Efpat €, S aeEl A Py e
IHATE &2

(a) TTST T

(b) TEHS TR

(c) dredeT qeTg

(d) ST

Teter fasafdarea & desf 8, Fefefea & @ eF-ar
HY GE /&2

(1) iﬁﬁwwﬁ?ﬂaéwaﬁﬁmﬁ
I

(2) < fagm &-fobm 3k gara st A 7t v €. |
ATeteT T ST foparm el

T T3 7T e 1 SUFNT Fh TE IR G-

P

(a) waa 1

(b) hae 2

(c) 1 32 eHt

(d) Fd 1 3RAE2

ffefEd §  wia-a1 g (fbde - a®) g8 g

gafed Tl €2

(a) eI - fowumdes

(b) HoRT&TIH - ATCRIEH

(c) FHUERATR - dHea

(d) SvaTEeTH - vg

et da1 % ded 8, fA=feifed swal ® faem e

(1) FacTsit & G & 37 & 39 9&] W Tohl T THITIBR
AT g1 T

(2) HFAEEA st 3 I 3R el yeredt & udm
yfaser @ fem

(3) STATE A RaaTstt ol fggait & Ufd 3GR effmIor o

T 2 7T e & T R gE ST g
%c:

(a) Fae 13K 2

(b) a2 3R 3

(c) Pael 13K 3

(d) 1,233




148.

149.

150.

Consider the following Battles of Medieval Indian
History:

(1) Battle of Khanwa

(2) Battle of Ghagra

(3) Battle of Talikota

(4) Battle of Haldighati
Arrange the above battles
chronological order?

(a) 1-2-3-4

(b) 2-3-4-1

(c) 4-3-2-1

(d) 2-1-3-4

in the correct

Which of the following Stone Age sites is located in
Uttar Pradesh?

() Sarayanahar

() Burzahom

(1) Chaupani Mando
(IV) Damdama

Select the correct answer from the code given below —

Code -
(@ r,m

(b) 1, 111, IV
(c) 1, v
(d) 1, 1,1, v

Consider the following statements regarding the
Unified Pension Scheme:

() Itis based on the recommendations of the T.
V. Somanathan Committee.

(Il) Pension Fund Regulatory and Development
Authority may issue regulations for
operationalizing the scheme.

(1) 1t will offer 50% of the average basic pay drawn
by a Central government employee during the
12 months prior to retirement.

(IV) It became effective from April 1, 2025.

Select the correct answer from the code given
below-

Code-

(a) land Il only

(b) Ilonly

(c) 1, mand IV only

(d) 1,1, and IV

Scan to get your Result

148.

149.

150.

;W?ﬂﬁ?ﬁﬁ%ﬁﬂ%ﬁﬁ%@ﬁgﬁmﬁaw
(1) T SITG

(2) "I DIgg

(3) difeiehlel &l g

(4) FedMECIBIgG

IS AT Pl Tt BIATIHH B AT -

(a) 1-2-3-4

(b) 2-3-4-1

(c) 4-3-2-1

(d) 2-1-3-4

ffefea & @ SI9-91 97T 0 e 3Tyl #
ferasr
() FIIAIE

() geigH
(1) < HTE

(IV) GHGHT

I f&U 77T e | Fel I H1 T e -

%’_

(a) I,1II

(b) I, III, IV

(c) IIL IV

(d) IIL, 11, 1, IV

Uhigpd U9 AT & g9y & fFA=fefad s

foem =t

() I St Fere Ay o R @ sneafia 2

(1) e A fafames ik Qe wftsorn, dsmr &
TerTer o forg fafam S e gepar 2 |

(1) ZHH FaTgi & Ugel 12 AT & SR g THR &
ST gRT U 3Med Hel 9 &1 50% e fasar
ST

(IV) TE 1 318, 2025 & g7t g

T ST 77T e | Fel I H 9T k-
&

(a) ®aer ] 3R II

(b) e 11

(c) &aer I, 111 3R IV

(d) L 11, III 3R IV
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